

Sumar Enteros (J)

Emplee una estrategia de enteros para encontrar cada respuesta.

$(+51) + (-28) =$

$(-47) + (-68) =$

$(-8) + (+91) =$

$(-36) + (-87) =$

$(-36) + (-85) =$

$(-60) + (-67) =$

$(+41) + (-88) =$

$(+38) + (+91) =$

$(+24) + (-28) =$

$(-88) + (+33) =$

$(+56) + (+61) =$

$(+81) + (-31) =$

$(-2) + (+22) =$

$(-48) + (+76) =$

$(-83) + (+15) =$

$(-47) + (-90) =$

$(+1) + (-33) =$

$(+25) + (+6) =$

$(+80) + (+74) =$

$(-40) + (-76) =$

$(+66) + (-72) =$

$(-30) + (+81) =$

$(+25) + (-45) =$

$(+65) + (+58) =$

$(-19) + (-36) =$

$(-74) + (+22) =$

$(-10) + (-57) =$

$(-34) + (-58) =$

$(+47) + (+71) =$

$(-54) + (+21) =$

Sumar Enteros (J) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

$$\begin{aligned} (+51) + (-28) &= \\ &= (+23) \end{aligned}$$

$$\begin{aligned} (-47) + (-68) &= \\ &= (-115) \end{aligned}$$

$$\begin{aligned} (-8) + (+91) &= \\ &= (+83) \end{aligned}$$

$$\begin{aligned} (-36) + (-87) &= \\ &= (-123) \end{aligned}$$

$$\begin{aligned} (-36) + (-85) &= \\ &= (-121) \end{aligned}$$

$$\begin{aligned} (-60) + (-67) &= \\ &= (-127) \end{aligned}$$

$$\begin{aligned} (+41) + (-88) &= \\ &= (-47) \end{aligned}$$

$$\begin{aligned} (+38) + (+91) &= \\ &= (+129) \end{aligned}$$

$$\begin{aligned} (+24) + (-28) &= \\ &= (-4) \end{aligned}$$

$$\begin{aligned} (-88) + (+33) &= \\ &= (-55) \end{aligned}$$

$$\begin{aligned} (+56) + (+61) &= \\ &= (+117) \end{aligned}$$

$$\begin{aligned} (+81) + (-31) &= \\ &= (+50) \end{aligned}$$

$$\begin{aligned} (-2) + (+22) &= \\ &= (+20) \end{aligned}$$

$$\begin{aligned} (-48) + (+76) &= \\ &= (+28) \end{aligned}$$

$$\begin{aligned} (-83) + (+15) &= \\ &= (-68) \end{aligned}$$

$$\begin{aligned} (-47) + (-90) &= \\ &= (-137) \end{aligned}$$

$$\begin{aligned} (+1) + (-33) &= \\ &= (-32) \end{aligned}$$

$$\begin{aligned} (+25) + (+6) &= \\ &= (+31) \end{aligned}$$

$$\begin{aligned} (+80) + (+74) &= \\ &= (+154) \end{aligned}$$

$$\begin{aligned} (-40) + (-76) &= \\ &= (-116) \end{aligned}$$

$$\begin{aligned} (+66) + (-72) &= \\ &= (-6) \end{aligned}$$

$$\begin{aligned} (-30) + (+81) &= \\ &= (+51) \end{aligned}$$

$$\begin{aligned} (+25) + (-45) &= \\ &= (-20) \end{aligned}$$

$$\begin{aligned} (+65) + (+58) &= \\ &= (+123) \end{aligned}$$

$$\begin{aligned} (-19) + (-36) &= \\ &= (-55) \end{aligned}$$

$$\begin{aligned} (-74) + (+22) &= \\ &= (-52) \end{aligned}$$

$$\begin{aligned} (-10) + (-57) &= \\ &= (-67) \end{aligned}$$

$$\begin{aligned} (-34) + (-58) &= \\ &= (-92) \end{aligned}$$

$$\begin{aligned} (+47) + (+71) &= \\ &= (+118) \end{aligned}$$

$$\begin{aligned} (-54) + (+21) &= \\ &= (-33) \end{aligned}$$